Fall AB MC Calculator-Portion Graph Review

1)

The graph of y = x* — x* —¢** changes concavity at x=
(A) 0641  (B) 0531  (C) 0421 (@) -0311 ~ (B), -0.201

2)

(Calculator) For what value of ¢ on 0 <x < 1 is the tangent to the graph of f(x) = &' — x* parallel to the
secant line on the interval [0, 11?7 |

a} -0.248 “b) 0.351 ¢} 0.500 d) 0.693 e} 0.718

3)

{Calculator section) An object moving along a line has velocity v{t) = tcos(t) — In(t + 2), where”™ ~
0Lt <10 _
a) For what value(s) of t is the object motionless? | b) How many times does the object reverse
direction?



The first derivative of a function f is given by
cosxf 2xsiny - cosx)

x)= o . On the interval 0 <0 x < 8, how many

relative maxirmna does the function f have?
A0
B. 1
D.

Wl

s

5)

A particle moves along the x-axis so that at any time ¢ 2 0, its velocity is given by v(#) = 3 + 41 cos(0.91).
What is the acceleration of the particle attime t = 47

(A) -2.016 (B) -0.677 (C) 1.633 (D) 1.814 (E) 2.978

6)

Jx What is the x-coordinate of the inflection
14+ x4+ x3

_“The function f has first derivative given by f'(x) =

‘point of the graph of f 7

(A) 1.008 (B) 0.473 0 (D) -0.278 (E) The gmph of f hasne inflection point.

7)

‘Let f be the function with derivative givm by f{x) = Sitf(xz + 1). How many relative extrema does f have
on the interval 2 < x < 47 ' *
(A) One  (B) Two  (C) Three (D) Four  (E) Five
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Q) {Calculator) For what value of ¢ on 0 <x<1is the tangent to the graph of f(x) = e*— x” parallel to the

secant !lga on the interval [0, 1]? : 5}"3@:)
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3 (Calculator section) An nbject movmg aicng a !me has velocity v(t) = teos(t) — In(t + 2), where
0<t=<10.

a) For whatvalue(s) of t is the object motionless? | b) How many times does the object reverse
){:ﬁ }(f)?- ' when Vﬁ}‘f} =0 direction? x%tgf&}&if’ ¢ =5 {g}?j 5;2‘ MY
x=1.55 V{"ﬁ} fom 1+;“|
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>A particle moves along the x-axis so that at any time t 2 0, its velocity is given by v() = 3 + 4 1 cos{0.91).
%‘«

What is the acceleration of the particle at time + = 47
(A) -2.016 (B) -0.677 (C) 1.633 633 | (D) 1.814 (E) 2.978 X/
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Th(; méﬁ:;::i(h f has first derivative given by f'(x) = m . What is the x-coordinate of the inflection

(E) The graph of f has no inflection point.

£ {Ux).

-~ point of the graph of f?
(A) ,1.008 (B) "(B) 0.473 ){ © 0 (D) ~0.278
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Lat f bﬂ the funcuon w1th derivative gwen by f/(x) = sm(x + 1) How many relative extrema does f have

~on the mtcrvai 2 <x<4?
(A) One (B) Two (C) Three 1 o) Four] (E) Five

e RN Lk e Aeaials AF n Busbioon £ sath the nennociy that

S S LN S DU .




